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1. f(x) = x+2emx;y’+y  = x+1

2 . f(x) = 3e-“-  5eX  y” - = 0; y

3. f(x) = e”+2x2+6x+?  ; y‘-3y’+2y  = 4x2

4 . f(x) = ~(l-thx);x*y”+5xy’+4y =
X2

0

5.  f(x) = 2x: 1~; (2x+l)*y”-(4x+2)y’-12y  = 0

7. f(x) = c,e4’+cze-”  ; y’-2y’  -8y = 0

8. f(x) = - 16x2+c,x+c2  ; y” = -32

9. f(x) = c,e’+c,xe”;  y”-2y’+y  = 0

10. f(x) = c1e2X+c2xe2”+cJe‘2X;  y”‘-2y”-4y’+8y  = 0

II. f(x) = c,e’+c,e-‘“+x2;  y”+y’-2y  = 2(1+x-x2)

12. f(t) = c,t’+c,t“  ; t2y”+2ty’  -6y = 0

13. g(x) = c,x+c,e’  ; (l-x)y”+xy’  -y =  0

14. g(t) = c,e’+c&+ite’; Y'-y = e’
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h&d 4.7 %W&f9J~l3 x dx+y' dy = 0

94 0
am1 aaJfl15 xdx+y'dy  = 0 6~,66,,66,fl~"a66ll~'$A

&& jxdx+Sy'dy  = c

x2 rl=,
2+ 3

Jdy = jx'dx-j&dx

y = $-fh/xl+C
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k-t  y = vx, dy = vdx+xdv

6awM%um.Jfll9  2 =  g ( y / x )  TX:1A
dx

vdx+xdv  = g(v)dx

(v-g(v))dx+xdv  =  0

&x+  d v~ = 0
X ” - 0)

9lfl M(x, y) dx + N(x,  y) dy = 0

dy-=
dx

_ .E!(x, = f(x,  y)
Nk Y)

i%Odld  4 . 1 3  0966fhJnl5 (y'-xy)dx+x'dy  =  0

dx dv
x + - = OV2

en/xl - ; = c
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d(u(x,  YY)  =  Mb,  Y) dx +  Nx>  Y)  dy
L c1

UMWQ  d(u(x,  y)) = 0

!4h.%hlQ¶J91Q9dOJfl,s~Q  11(x, y) = c

ihiaedld  4 . 1 6  %Whll~  Zxydx+x’dy  =  0

%hh  %uwdi Mb,  Y) = 2xy

N(x,  y) = x2

ibJlml1 al\;l-=
ay

!?!AiYl = 2x
ay

aN  = !g  = 2X
ax ax
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